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Remote Learning Packet

NB: Please keep all work produced this week. Details regarding how to turn in this work will be forthcoming.

April 20 - 24, 2020

Course: Pre-Algebra

Teacher(s): Mrs. Frank leslie.frank@greatheartsirving.org
Mrs. Voltin mary.voltin@greatheartsirving.org

Weekly Plan:

Monday, April 20
[ ] Addition Speed Test
[ ] Lesson 10.5 Similar Triangles

Tuesday, April 21
[] Subtraction Speed Test
[ ] Lesson 10.5 Similar Triangles

Wednesday, April 22
[] Multiplication Speed Test
[ ] Lesson 10.6 Special Right Triangles

Thursday, April 23
[ ] Division Speed Test
[ ] Lesson 10.6 Special Right Triangles

Friday, April 24

[ ] Roots Speed Test
[] Chapter 10 Review and Test

Statement of Academic Honesty

I affirm that the work completed from the packet I affirm that, to the best of my knowledge, my
is mine and that I completed it independently. child completed this work independently

Student Signature Parent Signature



Monday, April 20

1.

Your speed test for the day will be the addition speed test. Time yourself, and write the time it
took you to complete the entire test at the top of the page. After you have finished the test, use the
answer key to check for accuracy. Write your score at the top of the page.

Read lesson 10-5, Similar Triangles, on pages 368-370. Read it once. Go back and read it again
and work the example problems. Work the Class Exercises on page 370, #1-9, all. For extra
help, go to:
https://www.khanacademy.org/math/geometry/hs-geo-similarity/hs-geo-triangle-similarity-intro/v/

similar-triangle-basics

Please do not look at your answer key each day until you have worked every problem!

Tuesday, April 21

1.

Your speed test for the day will be subtraction.

2. Review lesson 10-5. For more help in solving similar triangle problems, go to:

https://www.khanacademy.org/math/geometry/hs-geo-similarity/hs-geo-solving-similar-triangles/

v/similarity-example-problems
Your homework assignment for today is HW 10.5, pp. 371-372, Written Exercises, #2-20, evens.

Wednesday, April 22

1.

Your speed test for the day will be multiplication.

2. Read lesson 10-6, on pages 373-374. Read it once. Go back and read it again and work the

example problems. Do the Class Exercises at the top of page 375, 1-12, all. For extra help,
please look at the following links:

https://www.khanacademy.org/math/geometry/hs-geo-trig/hs-geo-special-right-triangles/v/45-45-9

O-triangles
https://www.khanacademy.org/math/geometry/hs-geo-trig/hs-geo-special-right-triangles/v/intro-to

-30-60-90-triangles

Note: Do not get the Class Exercises assigned today confused with the Written Exercises

assigned tomorrow. They look alike!

Thursday, April 23

1.

Your speed test for the day will be division.

2. Review lesson 10-6. Review the videos from yesterday’s assignment.


https://www.khanacademy.org/math/geometry/hs-geo-similarity/hs-geo-triangle-similarity-intro/v/similar-triangle-basics
https://www.khanacademy.org/math/geometry/hs-geo-similarity/hs-geo-triangle-similarity-intro/v/similar-triangle-basics
https://www.khanacademy.org/math/geometry/hs-geo-similarity/hs-geo-solving-similar-triangles/v/similarity-example-problems
https://www.khanacademy.org/math/geometry/hs-geo-similarity/hs-geo-solving-similar-triangles/v/similarity-example-problems
https://www.khanacademy.org/math/geometry/hs-geo-trig/hs-geo-special-right-triangles/v/45-45-90-triangles
https://www.khanacademy.org/math/geometry/hs-geo-trig/hs-geo-special-right-triangles/v/45-45-90-triangles
https://www.khanacademy.org/math/geometry/hs-geo-trig/hs-geo-special-right-triangles/v/intro-to-30-60-90-triangles
https://www.khanacademy.org/math/geometry/hs-geo-trig/hs-geo-special-right-triangles/v/intro-to-30-60-90-triangles

Your homework assignment for today is HW 10.6, pp. 375-376, Written Exercises, #2-20, evens
AND pp. 376-377, Problems, #2-8, evens. You may use a calculator or the square root chart on
page 528 in your book to find square roots.

Friday, April 24

(98]

Your speed test for the day will be square roots. You only have to complete the first column of
the speed test!

Extra Practice: Chapter 10, pp. 520-521, #4-16, mod 4, #48-72, mod 4, plus #66.

AFTER you complete extra practice, check your work with the provided answer key.

Chapter 10 Test, page 391, #1-4, 8-15, all.
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Section______

V36 =6
V361 =19
V64 =8
V25 =5
Y100 = 10
Va=2
V121 =11
Vi6 =4
V169 = 13
V49 =7
V289 = 17
V400 = 20
Vo =3
V196 = 14
V324 =18
V256 = 16
V225 = 15
V144 = 12

V27 =3 V81 =3
Y1000 = 10 V625 =5
V216 =6 V256 =4
VY8 =2 Vie =2
V729 =9

V64 = 4

Y512 =8

V343 =7

VY125 =5

Y3125 =5
Y243 =3
Y1024 = 4
Y32 =2
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